REFERENCE: AX1531
KAWASAKI 450KX 2019

LIST :

4 NEO1-04-003 BOLT M6

4 NEO1-03-001 WASHER M6
2 NE01-02-009 TFHC 6*55

2 NEO1-06-029 TH 6*55

1 NEO1-06-010 TH 6*15

5 NE 10-01-004

'QﬁQ’Q‘Q

REFERENCE: AX1531
KAWASAKI KX450 2019

LIST :

4 NEO1-04-003 BOLT M6

4 NE01-03-001 WASHER M6
2 NE01-02-009 TFHC 6*55

2 NEO1-06-029 TH 6*55

1 NEO1-06-010 TH 6*15

5 NE 10-01-004




